N & o & AF &2 H Ml A
2000 & =0 AH US|
SN SEEPRA
Hal: MBASE
Ol MY BANL EHE CEEED
SN B OR(B) - NRAY - BYS Ofl & o glggi; Rz
NEE TP 16,064,242 11,344,502 4,719,740
= 1,540,959
= 1,288,000
= 13,235,283
NYBABE 12,019,538 7,038,578 4,980,960
= 1,508,844
= 1,288,000
= 9,222,694
NYEFAL =B 524,903 592,024 A67,121
=2 51,388
= 218,310
= 255,205
429 P 400,000 400,000 0
= 200,000
= 200,000
401 ASHLLHY 400,000 400,000 0
= 200,000
= 200,000
01 Al&H] 396,000 396,000 0
0422 St 396,000
2 198,000
= 198,000
03 Al&=rhl 4,000 4,000 0
0428 2A 4,000
2 2,000
= 2,000
£ R0| A 102,017 131,494 129,477
=2 51,388
= 50,629
401 A&HILLHH 102,017 131,494 £29,477
= 51,388
= 50,629
01 Al 100,957 130, 181 £29,224
O£ A 41,378
2 20,689




SA AHEEZEATRA
M MEEEEE
SRl MEEFAY =E (23
_ _ - NEc
SH-EFHHA(FA) - NIRAE - BES 01l A+oH loﬂ/ix_wH Hws2
[ 20,689
O gAY 59,579
= 30,165
[ 29,414
03 AlZ=0Hd] 1,060 1,313 A253
ORI At Y 416
= 208
== 208
OXgA 644
= 326
[ 318
A4 22,886 60,530 A37,644
sy 18,310
L= 4,576
401 AIEHIL=2UY] 13,500 56,900 243,400
s 10,800
== 2,700
01 Al&HI 13,360 56,314 A42,954
ogcsegE4 4,453,300 *3km 13,360
= 10,688
[ 2,672
03 AlZ=0Hd] 140 586 A446
ogcE= 46,5002 *3km 140
s 112
== 28
402 OQIZEX =0l M 9,386 0 9,386
= 7,510
== 1,876
02 OI2tCHSE AFRIHI 9,386 0 9,386
ogcae &2y 9,386,000 14! 9,386
= 7,510
[ 1,876
UHANEAR IS 744,037 771,245 A27,208
= 234,618
= 509,419




SN APEHARL
HE: pMUHABE
Chol: IRIAIBIOIT IR A (sl &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
A2UR HES 2EEXR 80,460 100,460 A 20,000
= 56,322
= 24,138
101 el t| 80,460 80,460 0
= 56,322
= 24,138
10 JIZtHZ2Z2NSES 80,460 80,460 0
O2URHEEYE ZETAMEZJ 80,460
= 56,322
== 24,138
Cho1gol ofst st HIoHZ AL 33,674 33,674 0
= 16,837
= 16,837
101 el | 8,603 8,280 323
= 4,301
= 4,302
10 JI2ZHH22SEs 8,603 8,280 323
OZAt 12 8,603
= 4,301
< 4,302
202 O4Hl 2,000 2,000 0
= 1,000
= 1,000
01 =Wobl 2,000 2,000 0
OZ AL Ot 2,000
= 1,000
& 1,000
206 M=l 15,071 15,394 A 328
= 7,536
& 7,535
01 &l 15,071 15,3% A323
ozel X 7 15,071
= 7,536
< 7,535
405 KHaHE S| 8,000 8,000 0




SN MYEHARL
H: NBARE
o9 YA AT J|BHEH (5l &2
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
405 XarE S = 4,000
= 4,000
01 KHALSEFHSH| 8,000 8,000 0
O24J1J § P 8,000
2 4,000
= 4,000
NEELTETYY 11,600 1,600 0
101 oIty 6,600 6,600 0
10 JIAHNZ2NSES 6,600 6,600 0
OMYHHE 2H o2y 6,600
206 &Y 5,000 5,000 0
L 5,000 5,000 0
OMYHASLH AR 250,0002 *20% 5,000
B 127,320 126,420 900
101 oIty 24,320 33,660 £9,340
B EE =R 24,320 33,660 29,340
OSHBIANY NEHTEE
32,0002 %1091 %762 24,320
201 L2yl 50,000 48,960 1,040
01 A= 2ell 50,000 48,960 1,040
OSHsAY B, SHEYY S
10,000, 0002 *5% 50,000
206 &I 46,000 20,000 26,000
ST 46,000 20,000 26,000
OSHaAY ABT 2P (1005) 46,000
207 SATIHEY 7,000 22,000 15,000
03 AlE o2t 7,000 22,000 215,000
OSHsAY S48 224 JIXHH 7,000
Ko A S 2Rl AYS 60,000 52,000 8,000
2 30,000
= 30,000
101 oIty 17,000 16,000 1,000
2 8,500
= 8,500




SN MdEPEFATA
Hu: NYBARE
ol QIAIE ST J|B T A (649l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
10 JIZH22NELS 17,000 16,000 1,000
OANEX ZA 0129 17,000
= 8,500
= 8,500
201 Ygreg| 10,000 10,000 0
= 5,000
= 5,000
01 A2zl 10,000 10,000 0
OANREET YUY 10,000
= 5,000
= 5,000
202 OiHl 5,000 5,000 0
= 2,500
= 2,500
SBENEE 5,000 5,000 0
OBESX oS 5,000
= 2,500
= 2,500
206 Mzl 28,000 20,000 8,000
=2 14,000
= 14,000
01 M=ol 28,000 20,000 8,000
OANEX 22l I 7 S 28,000
= 14,000
= 14,000
040101 7| BHE & ALY 140,000 200,000 260,000
= 70,000
= 70,000
405 R&HHSH] 140,000 80,000 60,000
= 70,000
= 70,000
01 RHULSEFHSH] 140,000 80,000 60,000
OANgeR J1J12e 20,000,0002 7% 140,000
= 70,000
= 70,000




SN APEHARL
HE: pMUHABE
Chol: IRIAIBIOIT IR A (sl &
S BB SR (B) - NEAY - BAS 0f & o Soe DB
=E782c 13,600 12,510 1,090
= 1,200
S 12,400
101 el 9,600 8,910 690
10 JIZH22ASEF 9,600 8,910 690
O==Rgac| 24| 32,0003 2001+ 15 9,600
201 Y2yl 4,000 3,600 400
= 1,200
= 2,800
01 ArR2teldl 4,000 3,600 400
O& S &S AHAL I =H| 4,000,000 4,000
2 1,200
= 2,800
ESde SN 614 614 0
= 269
< 345
101 el 614 614 0
= 269
= 345
10 JIZH22NSES 614 614 0
Ossd €3X 614
2 269
[ 345
==& 2CU0H 13,943 14,011 A68
= 9,821
S 4,122
101 el 13,943 14,011 68
= 9,821
= 4,122
10 JIZN22AHsE+ 13,943 14,011 NGB8
O=x==&32cluold 13,943
= 9,821
s 4,122
==& 2 54,700 52,560 2,140
101 el H] 44,800 43,560 1,240




SN AYEHADA
HE: NYBHRE
ol ABAT J|P RN (649l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
10 JIAM2ZNS2+ 44,800 43,560 1,240
O+22 el o2y
32,0002 4021 452 +75] 44,800
206 MHZHl 9,900 9,000 900
01 Mzl 9,900 9,000 900
O+=22 el I 1,980,00094 +55 9,900
WEH 2ol L SXMA 74,383 66,636 7,747
= 50, 169
= 24,214
101 Q12| 65,178 58,631 6,547
= 45,625
= 19,553
10 JAM2ENS2 4 65,178 58,631 6,547
oMz el 65,178
= 45,625
= 19,553
202 o1l 4,000 4,800 2800
= 2,000
= 2,000
01 =Uioit] 4,000 4,800 \800
OMWse ¥ +8= 22 4,000
= 2,000
< 2,000
206 Mzl 5,205 3,205 2,000
= 2,544
= 2,661
01 Mzl 5,205 3,205 2,000
OB el & SR 5,205
= 2,544
< 2,661
BUBS S4 40,307 30, 160 10,147
101 Q12| 32,000 17,160 14,840
10 JAH2ENE2+ 32,000 17,160 14,840
Ot MBS 4 22| ARy
32,0002 %1021 4202 +53] 32,000




SN AYBHATL
Hu: NYBARE
ol QIAIE ST J|B T A (649l &2
_ _ SIEN
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
206 Wbl 8,307 13,000 ~4,693
01 M=l 8,307 13,000 A4,693
OENMNZERIIEHI2 53,8002 155 8,307
ZQM U RIS A B 52,660 51,750 910
101 o121l 24,960 24,750 210
10 JAM2ZNERS 24,960 24,750 210
OZ2 M4 U 223 S el A9
32,0002 *3021 262 24,960
201 Y2yl 7,700 7,000 700
01 At el 7,700 7,000 700
OZ2MN U 2235 S 22 7,700
206 MZbl 20,000 20,000 0
01 M=ol 20,000 20,000 0
OR2BISH 22| U LUAR HAE 25
T 500,0002 *40% 20,000
M22 EZAT 22 ¢ A K 11,400 0 11,400
101 QI24Hl 6,400 0 6,400
10 JRAN2EZNE2+ 6,400 0 6,400
SNELEEES 32,0002 * 1021 %20 6,400
206 Mzl 5,000 0 5,000
01 M=ol 5,000 0 5,000
OABZ 22 T 5,000
DEI IIBE L UES SHAE 10,400 0 10,400
101 o121l 6,400 0 6,400
10 JAHN2EZNE2 S 6,400 0 6,400
O MNEZHY 2 2oy
32,0008 *1021 %202 6,400
206 Mzl 2,000 0 2,000
01 =6l 2,000 0 2,000
OYMAAEAT B 2,000
207 QN 2,000 0 2,000
CIREEET 2,000 0 2,000
NEEER == 2,000
OhElE 2ozl 18,976 18,850 126
I




SN MdEPEFATA
Hal: MHBYRE
9l UAAIEAT JIBEY (£ @8
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
101 QI 14,976 14,850 126
10 JIZH2ZRNELS 14,976 14,850 126
OOrM a2 2| oley 32,0002 x2601 + 182 14,976
206 Mzl 4,000 4,000 0
01 M=zl 4,000 4,000 0
OOkMst BX 7Y S 500,000 *8% 4,000
sANES 22 6,381,330 1,315,280 5,066,050
=2 9,862
= 400,000
= 5,971,468
NEEZ 2l 4,843,235 457,917 4,385,318
101 Q124Hl 3,840 3,498 342
10 JIZHI2NELS 3,840 3,498 342
OR+H2IH % th4xl2el
32,0002 x391 %402 3,840
201 ereo| 185,295 165,211 20,084
02 Zz2Y| 185,295 165,211 20,084
oozl 112,644
OA& ZHIR XY 72,651
206 MRl 10,000 10,000 0
EETI 10,000 10,000 0
OBEE ME HHAYS 10,000
301 LerBA3 2,000 6,008 A4,008
CEEPEEEEP 2,000 6,008 4,008
OBA2LL B4 2,000
401 A&HILLHH 4,452,100 191,800 4,260,300
01 A& 4,452,100 190,000 4,262,100
ORNSHAXHI| & 55,000
Otz &2l Molg A 20,000
OL% oh4th2 B 20,000
OWgrayl M2 U 4 10,000
Odtgrayl A2 M| 10,000
OR+HEIANE =22 24 37,100




SN MdEPEFATA
Hal: MHBARE
o9l BUALS Bl (6191 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
SEEEENENE 4,300,000
405 XtarzE S| 190,000 81,400 108,600
01 RALYSEFHSH 190,000 81,400 108,600
OSUAL LHHAZX 5,000
O3lolal SERY|AlL 25,000
OUg s8x 7Y 160,000
FoE P 400,000 400,000 0
= 200,000
= 200,000
401 ASHILLHH 400,000 400,000 0
= 200,000
= 200,000
01 A&t 396,000 396,000 0
ONSELY SAAY 396,000
2 198,000
= 198,000
03 Al&STH] 4,000 4,000 0
ORGESE LA 4,000
2 2,000
= 2,000
MEES P B RALY 800,000 200,000 600,000
= 200,000
= 600,000
401 ANSHILLHH 800,000 200,000 600,000
= 200,000
= 600,000
01 AlZH] 792,000 198,000 594,000
OUYLST FAAY 792,000
2 198,000
= 594,000
03 Al&SOHY] 8,000 2,000 6,000
Ol 2R PR 8,000
2 2,000
= 6,000




SN MYEHARL
H: NBARE
ool SANEES e (St5: &8 2)
_ _ HE T
SN HY . C(EH) - MRAY - BYS 0ff &+ o4 il b o B2
Kol el 39,420 35,680 3,740
101 oIty 20,480 19,800 680
10 JIAHNZ2HSES 20,480 19,800 680
OXHESE B2l Q12|
32,0002 %801 102 +83] 20,480
201 Ysr2gyl 7,240 7,240 0
01 AfR2elb] 7,240 7,240 0
O%%oF 228S 7Y 2,040
O#=9d 75 DA 5,200
203 AREXY| 2,400 2,400 0
08 ANEFZAL2EY| 2,400 2,400 0
OUHY Ye=3 2,400
206 Tl 4,800 2,640 2,160
01 W=t 4,800 2,640 2,160
ONea 3488 S 29 200,0002! * 128 2,400
£20F 23 2 MEX 7Y
200,0002! * 128 2,400
405 THeHE S 4,500 3,600 900
01 KNOASEFHSH] 4,500 3,600 900
O%=T o2 7Y 1,500, 00021 #3CH 4,500
Aot nSeY 53,275 67,065 A13,790
2 9,862
= 43,413
101 Q12| 40,275 54,065 A13,790
2 9,862
= 30,413
10 JIAHN2ENS2+ 40,275 54,065 A13,790
OHaII2Y 14,355
2 9,862
= 4,493
OFYYHEI 29 25,920
201 Ler2 Yyl 10,000 10,000 0
01 AFR2elt] 10,000 10,000 0
OXteists DR K 2,0002 *2, 500 5,000
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_ _ HE T
SN B CL(BH) - MBAY - BYS Abou i HIRE
ORSN2 HE 23 5,000/ 1,000 5,000
206 T2l 3,000 3,000 0
01 M2l 3,000 3,000 0
OXtetsts NEME 7 1,500,0008! 255 3,000
Hea sgael 74,880 79,140 14,260
101 Q124 21,280 21,840 1560
0 J2H2ENSES 21,280 21,840 560
ogHeaze ALY 32,0002 <791 +052! 21,280
201 ere | 18,600 12,000 6,600
01 AtR22IH| 6,600 6,000 600
ogues 2y 550, 0008 * 128 6,600
02 BT 12,000 6,000 6,000
OZHeSa NEHA 12,000
206 T2 17,000 25,000 8,000
01 M2l 17,000 25,000 8,000
OZHea 22l MR 17,000
401 Al&HILHY 8,000 20,000 A2,000
01 Al&H] 18,000 20,000 £2,000
oagawel 5,714 1,400 8,000
OZHea etptA3 10,000
20t 222 98,020 27,040 70,980
101 Q124 15,360 2,640 12,720
0 JZH2ERNSE+ 15,360 2,640 12,720
oses0tee 32,0002 %201 x202 » 122 15,360
201 pr2gyl 7,600 7,000 600
01 A= 22l 7,600 7,000 600
OSSEYHY L X2 300,000% 122 3,600
OS=20ts 828 i S AEK]X
100, 000! *407H 4,000
206 T2l 24,000 16,800 7,200
01 M2l 24,000 16,800 7,200
OOMEE AE BY 2,000,000% *123] 24,000
401 Al&HILSHY 51,060 0 51,060
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Hal: MHBARE
o9l BUALS Bl (649l &2
DAY SR(B) - MBAY - BES Ofl &F o8 glggi; HRs2
01 AlZH] 51,060 0 51,060
OSE22 ANLE RNSS 51,060
NEEA2 AL FT 20,000 10,000 10,000
201 Y2yl 20,000 10,000 10,000
03 A2l 20,000 10,000 10,000
OUERL2S AL A 20,000
MEu2 R 2y 52,500 38,438 14,062
201 gr2g| 51,000 28, 144 22,856
01 A2zl 29,000 6,000 23,000
OelZa oI 3002 %30,00004 9,000
o2 AN ST ME 20,000
02 B2 22,000 22,144 A4
ost2n2y BB2YY| 22,000
405 Xtz S| 1,500 4,294 ~2,794
01 KMLSEHSH] 1,500 4,294 A2,794
OHOIHZTRIE 7 1,500
By sy 781,268 794,937 A 13,669
=2 418,898
= 14,697
= 347,673
NEYHE YA 183,264 244,323 ~61,059
= 95,085
= 83,229
101 QI24Hl 107,300 160,743 153,443
=2 53,650
= 53,650
10 JIZH2ZRER S 107,300 160,743 53,443
OMHHE O SRS 13,412,502 480! 107,300
2 53,650
= 53,650
401 ASHILLHH 69,649 75,580 ~5,931
= 38,228
= 31,421




SN MEBRATL
mo: MR BADE
crol: morE MEAeBe CLE-E
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
01 A&l 69,649 75,580 25,931
Odteddol= ZHRALS 69,649
= 38,228
= 31,421
405 KHaHFE SHI 6,315 7,000 685
= 3,157
= 3,158
01 Xt =SFHSHI 6,315 7,000 A685
Outd goll s YHEH 2 6,315
= 3,157
= 3,158
=t RIIALS 288,618 289,903 AN 1,285
= 144,309
& 144,309
401 Al&BIZL20HYI 288,618 289,903 AN 1,285
= 144,309
= 144,309
01 Al&b| 277,650 283,004 AN5,354
O= A 277,650
= 138,825
= 138,825
02 Zeltl 5,196 4,012 1,184
O=ItFIIAZ 5,196
= 2,508
o= 2,598
03 AlZ=0HHI 5,772 2,887 2,885
O=ItRIIArY 5,772
= 2,886
& 2,886
AE ALY 80,918 103,500 N22,582
= 42,886
& 38,032
401 A&HIZR0YI 80,918 103,500 N 22,582
= 42,886
& 38,032




SA: dEsHenas
Hu: MEPRE
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_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
01 A& 77,842 101,530 123,688
OX & At 77,842
= 41,261
= 36,581
02 el 1,458 1,390 68
OX & A 1,458
= 770
= 688
03 Al&=CHHI 1,618 580 1,038
OX YA 1,618
= 855
< 763
AT A A 18,371 105,055 86,684
7 14,697
= 3,674
101 Q124 9,371 14,950 15,579
z 7,497
= 1,874
10 JAHI2ENSE+ 9,371 14,950 15,579
oYl 9,371
= 7,497
< 1,874
401 Al&HIL=HY 9,000 90, 105 A81,105
7 7,200
= 1,800
01 A& 9,000 90,105 A81,105
oYEES 9,000
2 7,200
= 1,800
AP AL 54,000 0 54,000
= 37,800
= 16,200
401 N&HIL2HY] 54,000 0 54,000
= 37,800
= 16,200
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_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 A& 52,920 0 52,920
OAFXI AN 52,920
2 37,044
= 15,876
03 Al&=rhl 1,080 0 1,080
O&FXI AFEEAN 1,080
= 756
= 324
NS 24,000 39, 156 A15,156
101 Q14| 24,000 30,000 6,000
10 JIZH22NELS 24,000 30,000 6,000
otz s R 32,0002 %1021 %752 24,000
A E YT A 132,097 13,000 119,097
= 98,868
= 33,229
101 QI 63,097 0 63,007
= 44,168
= 8,929
B EEEEES 63,007 0 63,007
ouaEsAAL 63,007
2 44,168
= 18,929
201 er2g| 13,000 12,000 1,000
= 3,900
= 9,100
01 At2tel| 13,000 2,000 1,000
OlEYX 13,000
2 3,900
= 9,100
202 OiHl 1,000 1,000 0
=2 300
= 700
01 =Uhor 1,000 1,000 0
OUEXSHES Ol 1,000
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SAN-ZH-SA(FA) - NFAY - BES Ol AF o8 HwsZ
NHHEYY B = 200,000

= 204, 141
101 o124 14,003 28,145 14,142
= 9,862
4,141
10 JIZH22NSES 14,003 28,145 A14,142
O%H&d 2 14,003
= 9,862
< 4,141
401 Al&HI LSO 400,000 400,000 0
7 200,000
= 200,000
01 A& 384,440 392,000 AT7,560
OXo E LB ALY 384,440
7 192,220
< 192,220
02 el 7,560 0 7,560
OXte S S ALY 7,560
7 3,780
< 3,780
03 Al&S0| 8,000 8,000 0
OX e E S ALY 8,000
a 4,000
= 4,000
MHHEAY ALSY 303,706 425,800 A 122,094
101 oIAH| 96,000 80, 145 15,855
10 JIZH22NSES 96,000 80, 145 15,855
OFgz 22 32,0002 *3021 * 1002 96,000
201 Ysre | 125,706 173,780 48,074
01 Atz 73,138 103,460 30,322
OFgz 22| 73,138
02 BBSYH| 52,568 70,320 A17,752
OFgz 22| 52,568
206 Tz 20,000 30,000 210,000
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YsAADA
YBABE
o5 29

SN (B) - MBEAY - B2 Aol Soe HRZ2
01 &4l 20,000 30,000 A 10,000
Osdd =g 10,000
Os2e Hz7¢ 10,000
401 A&HIL=HYI 62,000 91,875 129,875
01 Al&H| 61,380 91,000 N 29,620
O=d g2 xXel Z2At 61,380
03 Al&20iY] 620 875 A 255
O Y22 S At 620, 000& x 14 620
==229 587,005 585,011 1,994
= 19,641
g 200,000
== 367,364
=23 22 427,885 414,011 13,874
= 19,641
rag 200,000
= 208,244
101 Q14| 27,885 14,011 13,874
= 19,641
= 8,244
10 JIZHZ2XNEES 27,885 14,011 13,874
OZCUIoIeH &4 27,885
= 19,641
== 8,244
206 FH=H| 20,000 20,000 0
rag 10,000
& 10,000
01 MHEHI 20,000 20,000 0
O+2% %38 S 7Y 20,000
iy 10,000
T 10,000
401 AIEHIZL 204 380,000 380,000 0
P 190,000
== 190,000
01 Al&H| 364,440 372,000 AT ,560




SA MR
. psARE
chelr +222d (E9): &2
- _ _ HEE
SA B CRA(BA) - MRAY - BES Ofl &F 0l A o1 HRE2

SEEEEEWE 364,440
[ 182,220
= 182,220

02 Zcldl 7,560 0 7,560
O+2RL Y 7,560
2 3,780
= 3,780

03 A&=Ubl 8,000 8,000 0
OS2 E22AE 8,000
= 4,000
= 4,000

»22 ALY 159,120 171,000 A 11,880

101 el 91,200 73,000 18,200

10 JI2N22AAsE+ 91,200 73,000 18,200
Ox==A 2| 32,0002 3021 x05 ! 91,200

201 LetEgll 45,520 46,000 480

01 ArR2teltl 5,250 6,000 AT50
Ox==A 2 5,250

02 ZZ2y| 40,270 40,000 270
OS2l 40,270

206 M=l 20,000 20,000 0

01 =4 20,000 20,000 0
O#=22 5% 2 10,000
O+22 H2 7Y 10,000

405  RHAHE SH 2,400 2,000 400

01 X&LSEFSH] 2,400 2,000 400
OJl=2el e PY 1,500
OFXE & 0I5 7 900

ZAsd e 722,201 506,400 215,801
= 300,000
= 422,201

ZAolietsd Aldae] 722,201 506,400 215,801
2 300,000
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SN AYEAADL
H: NPBARE
el ZX IR k)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2

BUHADH Al = 422,201

101 oIty 51,200 82,000 £30,800

10 JANIENSES 51,200 82,000 30,800
OJIAH2Z Rt 32,0002 %2091 +802 51,200

201 Ysregyl 289,970 10,000 279,970
2 139,985
= 149,985

01 AR el 10,000 10,000 0
ONSESERY 5,000
OF-PS--£1 5,000

03 A2 279,970 0 279,970
ORTHR Al 0% P 2 279,970
2 139,985
= 139,985

206 &I 6,000 10,000 A4,000

EET 6,000 10,000 4,000
OZXIA2Y SERY 6,000

401 AEHIL2 O 370,031 404,400 34,369
2 160,015
= 210,016

01 Al&g] 367,727 400,600 £32,873
OBtz @ WAL B4 30,000
Osfior2d Jirs 24 20,000
O =4 317,727
2 158,863
= 158,864

03 Al& S CH] 2,304 3,800 A1,496
o= =4 320,000,000 %0.72% 2,304
2 1,152
= 1,152

405 XrarE S 5,000 0 5,000

01 XHAYLSEFHSH] 5,000 0 5,000
ozH2IE B2 5,000

_21_




SN MEBEADL
M MYBHPE
Celt SRE A2 JIBEN ol
SN HB G (BH) - MRAY - BES e Hlm= 2
g THare| DBt s 414,241 646,736 A 232,495
= 66,850
s 254,993
& 92,398
ESUNE=! 318,741 391,795 AT3,054
s 254,993
& 63,748
101 el t| 18,741 30,000 211,259
s 14,993
= 3,748
10 JI2ZHH22sSEs 18,741 30,000 211,259
Oz 2el& 18,741
2 14,993
< 3,748
401 AU =204 300,000 361,795 AB1,795
s 240,000
= 60,000
01 Al&HI 287,400 350,000 A62,600
OL T AIE M 287,400
s 229,920
< 57,480
02 &2l 6,600 8,541 A 1,941
O AIEAY 6,600
s 5,280
< 1,320
03 AlZ=0Hd] 6,000 3,254 2,746
OYZAIEAIS 6,000
s 4,800
& 1,200
2FAFS 95,500 254,941 A 159,441
= 66,850
= 28,650
401 Al &BIZ20HYI 95,500 254,941 A 159,441
= 66,850
& 28,650
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el ERE ez D| (232
AN - XM . cle (s HIE A A} OH HEE Hl o =2t
01 A&l 87,111 247,853 A 160,742
OOFHN AL 87,111
= 60,977
= 26,134
02 Zeltl 3,820 5,252 AN1,432
OOFAHIAFE 3,820
= 2,674
= 1,146
03 AlZ=20HI 4,569 1,836 2,733
OOFAH A Y 4,569
= 3,199
== 1,370
s Mt ES 164,625 117,000 47,625
= 7,407
& 157,218
M HHS LA 3,725 0 3,725
= 2,607
= 1,118
101 @Il 3,725 0 3,725
= 2,607
& 1,118
10 JIZtHZ22 X 3,725 0 3,725
Qi doll = 3,725
= 2,607
< 1,118
=YX AL 16,000 15,000 1,000
= 4,800
= 11,200
201 Let3| 15,000 15,000 0
= 4,500
& 10,500
01 At 2t2ldl 15,000 15,000 0
Q&= LR ALR22(H] 15,000
= 4,500
= 10,500
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SN MPSAATA
I NHBADE
CHell SR areEs (cre):® )
FA-ZH -3 - MEAY - BES Off &FoH ggi HimE2
202 ofdl 1,000 0 1,000
2 300
= 700
01 =L40itl 1,000 0 1,000
Ot ES0H| 1,000
= 300
= 700
MarzeEs 144,900 90,000 54,900
101 o2l 10,000 10,000 0
10 JIAH22ASES 10,000 10,000 0
OSSR 10,000
201 Ygregy| 20,000 20,000 0
01 At222lH| 20,000 20,000 0
Oyt 20,000
401 AZHIL=2H] 114,900 60,000 54,900
01 Al&H 112,000 60,000 52,000
O=ERY HA HEZA 20,000
O=Rd A e 24 10,000
OZ RN 28 =& 82,000
03 Al&=0HHl 2,900 0 2,900
OANRAFEBA 900
OZRMUL g5z ++2 2,000
NEEDEE RS 818,219 691,000 127,219
2 390,318
& 427,901
FYAMY 10,219 46,500 ~36,281
2 6.318
=5 3.901
401 AlZHIL L0 10,219 46,500 136,281
=2 6.318
[ 3,901
01 Al&H 10,015 44,000 /33,985
OZEAY 10,015
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= 6,192
= 3,823
03 A&l 204 500 A 296
SENEE 204
= 126
= 78
0t AR 808,000 644,500 163,500
= 384,000
= 424,000
401 A&HIL2OH 808,000 644,500 163,500
= 384,000
= 424,000
01 Al&H| 744,572 630,000 114,572
O£t ALY 704,572
= 352,266
= 352,286
O&Yo HHEZ sS4 40,000
02 el 49,200 11,500 37,700
O£ R ALY 49,200
= 24,600
= 24,600
03 Al&=rHHI 14,208 3,000 11,208
ORI ALY 14,228
= 7,114
= 7,114
BH2YAY (MPEBATL) 4,044,704 4,305,924 A261,220
=2 32,115
= 4,012,589
=2l 389,610 380,797 8,813
=2l 389,610 380,797 8,813
201 syl 270,110 261,297 8,813
01 At=elHl 137, 150 128,337 8,813
OJl=dRE 94,400
OY&R 2g 30,0002 x301 x4752 42,750
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202 O4Hl 119,500 119,500 0
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O U0l 19,200
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= 32,115
= 3,622,979
oled 2| 3,655,094 3,925,127 A 270,033
= 32,115
& 3,622,979
101 Q2| 3,459,714 3,703,447 A243,733
= 32,115
& 3,427,599
01 JI23 1,525,599 1,681,355 A 155,756
OHEH 66,082
-42(12!) 66,082
oYt 689,937
-53 30=(39!) 106,607
-62 225 (1221) 340,272
72 205(99!) 223,020
-8z 153 (19!) 20,038
OJIsd 454,254
-832 253 (59!) 120,270
-92 185(109!) 193,944
-102 10=(102!) 140,040
OJEES] 203,055
-2 255 (1921) 44,295
-HAP AL 205 (621) 158,760
Oo&d2=+¢ 112,271
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